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H,Y = Y+ H,Y K,=[H[H,Y]/[H,Y]=1.0" 10?
HyY- <—= K +H,Y? K,=[H[H,Y?]/[[H,Y]=22" 10°
HY> <=—= H*+HY® Ky =[H*][HY®*]/[H,Y?] =69 107
HY: <—= H*'+Y* K,=[H*][ Y*)/[HY?*] =55 10"
\'A8 EDTA EDTA
Cy
Cy =[YTTH[HYTT+[HYZ]+[HY T +[H,Y]
= (Vo) [Y*]
Y+ Va,
Ky Ky [H]
pH 5.0 a,
EDTA
Cd + Y+ +—= cdY? K=[CdY?2]/[Cd*][ Y*] =29 10%
Mg + Y+ <*+—= MgY? K =[MgY?]/[Mg*][ Y*] =49  10°
pH 5.0
Ki M2+
K' =K o, =[MY2]/[M*] C,
pH5.0 0.10mole * Cd(NO,), 100 0.10 mole *EDTA 100
22~ 10°
mol¢ * pH5.0 0.10mol? *Mg(NO,), 100 0.10 mol

¢ * EDTA 100

pHS50 EDTA



